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1111 Solving Systems of Linear Equations (Graphing) 
1) What does it mean to solve a system of linear equations? 
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2) You graph a system oflinear equations, and the solution appears to be (3 , 4). How can you 
verify that the solution (3 , 4) is correct? 
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Show whether the given ordered pair is a solution ofthe system. 

3) (5 ' 3) 

v2x- y=7 

y x+ y=2 

-z(~)--3;: 7 
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;o-3 =- 7 

4) ( -1 '4) 

.At.x + 3y = 8 

)C'3x+y=O 

5) (2 '-2) 

¥(-1)1$(y) ~ &' 
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~9x=10-4y 

/y = 3x-8 
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-2 -:.3(.2)-g 

-2 ~(p-$ / 
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Match the· system of linear equations with the corresponding graph. Use the graph to estimate the solution. 
Check your solution. 

6) y = 2.5x + 1 

A) 

7) y = 2x- 3 

1 
y = --x + 1 
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B) 

5) 1 
y = -x- 2 

C) 

\ c ( r.ffJ.tr) 
y = --x + 4 

5 



Solve the system of linear equations by graphing. 

9) 

11) 
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y=2 

X=-3 (-~ z) 
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y=x+4 

10) y = 2 

y=6-x 
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y =X- 7 

y = -4x + 3 

y=2x-5 ..... 

y=x-3 
y 

+>-:~f±l~Ftt2~ 
-·l·-l-t--1--t- .. 7 .. 

::::I= :=~· . 1-1- ·-Hi +~ -=t- it. .. 1)/ ':= 
-1- r--l-T-1-1- ... 1-·.. I-t- - 17 .... ·-·f- +· -
-1-1-h·· - · . -t·-;; !L r- .. ·I-
-t- -1- ·-- +- · - - 1-t- ,:/ t-:~ ~'-"- 1- -- ·--
-+-1-+-+-'1- -1- ·- ··-!-· - . . il"-1-1- ..... 0 

.... 

iJ" 'X 

- 1- -~:=·=~~::H-~F·+-1--t-,/--~-~/ ,1..1,..,_+-t_r~ .. ~=:.~--= : -. = -=~ { z I .. / ) 
-+-+-+-+--1-+-i ·+-+-.~'+-r-1-1·- -· - · ·- ··- - ·-
·- .. I/ .. 1-
_f. .... l/ 1/ ..... T.. . .. 

I 0 ••• -·1-1-·!-- .. ····1-1-1-·1-·· 
-· ... 0 I/ 0 I ·- .... [..... 

- 1...,!L t-·i- ;- IL - +-t- t·- -· - 1-1-- 1-- ---~ 
t +t ~~--·!-+ 1-tvt~e t-·j·-h·-H-t-- ··+- -· -~ I l!/, ~ I I I I I I 


